
1390 SUPER DUKE R, orange 2024 <2024><EU><F9903X9>
SIDE TRIM

68820

Pos Part Number Description Additional Text Quantity

1 A62408051000EDA Right fuel tank spoiler with decal 1.00

2 A62408050000EDA Fuel tank spoiler left with decal 1.00

3 A62408057010C1 Winglet external right 1.00

4 A62408056010C1 Winglet external left 1.00

5 A62408057020C1 Winglet internal right 1.00

6 A62408056020C1 Winglet internal left 1.00

7 69008021040 special screw M6x14 2.00

8 69008021260 Special screw, M5x14 8.00

9 69008021260 Special screw, M5x14 2.00

10 61707015001 dual lock 25,4mm 2.00

11 0660003301000 Elastic buffer self-adhesive 2.00

12 61908040030 Bracket for side fairing 8.00

13 69008021080 clip nut M5 4.00

14 61411095000 Plug cover 1.00

15 0081040121 EJOT Delta PT K40x12 2.00


